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1. one tenths of 4 is how much?
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2. one hundredths of 5 is how much?
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3. one thousandths of 5 is how much?
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4. one ten thousandths of 2 is how much?
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5. How many tenths are there in the number 465.71847?

(i) 7 (ii)y 8 (iii) 10 (iv) 1 (v) 4

6. How many hundredths are there in the number 468.14147
(i) 1 (i) 4 (i) 100

7. How many thousandths are there in the number 305.22457

(i) 1000 (ii) 5 (iii) 4 (iv) 2

8. How many ten thousandths are there in the number 577.10037

(i) 1 (ii) 3 (iii) O (iv) 10000

9. "one tenths" is how much?
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10. "five tenths and two hundredths" is how much?
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11. "seven hundredths and six thousandths" is how much?
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"four thousandths and six ten thousandths" is how much?
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"seven ones and six tenths" is how much?
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"one ones and six tenths and eight hundredths" is how much?
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"four tens four ones and two hundredths and one thousandths" is how much?

(i)

(v)

2 2 7

100 1000 10000

1

40+4+ +
100 100

0

2 1
(ii) 400+40+ — +
10 100

1
(iii) 4000+400+2+ -
10

(iv)

4+

9 5 2
+ +
100 1000 10000

4 2 1

10 1000 10000

"three hundreds eight tens nine ones and eight thousandths and three ten thousandths" is how much?
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